. . 1
:‘@GW@E sind = ~F and tan @ < 0, find cosd. -

26 |
{a) W% (b) @ {e) miﬁ (&) agﬁ (e) Noze of these
Lol Apsyeer: q |
:/S:)Determim the period: Hz) = Sein(de w)

h {a) 37 {b) g (e 2m {®) %E () None of these
'imeAﬁigwar: b

fﬁ @ Desczibe the horizontal ahifh of the graph of g with respect to the graph of f:
YT (e) = dein (23- - %‘}) and  f(x) = 4sin(2z)

(8) = umits o the left {b) fg; units to the right () %@ anits i the left
3
(d) i§i units to the right (e} None of thess

Yoo =R piewer: b

-

[ - . vy o - L :
[ 36. To sketch the graph of the comecant function, it ie conveniont to first sheteh the graph
\

/ of the fanetion, ,
(2) sine (b} cosine {e) tenpent
{d} cotangent {e) secawm

I—M—~Answer: o

2B, Whick of the following is » vertical ssymptote to the graph of ¥ = —tan (@ -

sl 5
e
-3

{&}&?2%’ {b)a’::%% {@}g'ﬁ’fg‘
{d) &= %ﬁ (e} Woze of these
T—l—Answer: d i

. (E%Emnima%e: ens [arctan (-—%}]

)3/ () ‘%%E (c) &5-”;’%_ @ 2B

13

(e} None of these

l—=lfl—Anewer b

R :

8. "The angle of depression from the top of one building to the

» oot of a building scross the streel is §3°. The angle of de-
prezsion to the top of the same buildiog is 33°. The 4wo

buildings ave 40 feet apurt. What s the height of the shorter
building?

E—O—=Snewer: 52.5 fost




(fﬁéﬁ Convert tg xadis;ns: 2407

— Sz 43200 3
{a) T {b —= ) {c) Eﬁ fd) %ﬁ {e) Nope of these
im&ﬁm&@%w@r: d v

. i3
6. Find an angle @ that je eoterminal to méf such that ) < & < 3.

I—0—Ansves %E

Kt i%« Give the exsct valve of gee 7, B :
" {a) Brdchined T (B} -1 RO
(2 % {e) Home of these

Lo ey by

.If'\ X
{’E:% Find the exnct volps of Eok{ =150}

IS

{a) % {b} mgl fe} uuj% {d) 1 (e} None of thess

| 2 V3 -,
Ee=lifie—fneper: 5
/:%::Q The cantval angle § of % cirele with redins 9 nches subiends
{2) 2.90¢  {b) 197,590 -fc) D450

zmﬁﬁm‘?ﬂm&%ﬂﬁ@ﬂ b

86 are of 20 inches. Fing g

(d) 25.78¢ {e} None of thess

AT ' e ) ’ T ) PR . . .
?;3’;) A reguler pentegon i ingcribed in s eirle of redive 56 jnches. Find the length of the'sides of the . l

pentegon. {(Bound to thees decimal placss
(=) 86.692 1. (1) g9.49; o (e} 42.821 in. (d) 444728, (&) Fome of these
Ll Amiswey: o i .

2. Uning the right trizngle, find cot 2. /,
a4 Vi Va3
(=) = - g e} —

{d) % (e} Mone of these At

b=l sy o

. Pind & for the friavngle shown ot the Tight,
ya L g
- - o 1ByR
R w-z;i—




-t

EELY

16. Factor and 5iﬁpﬁfy: sec? wese? 2 —secl g o cael z + 1
{e} 1 (b) entdz
{d) tenfz {e) Nome of these
2—MA—Answer; 5 "
N

14, Factor apd simplify: eotty + Zeot® c}= 1
{8} tantz {b) ese? 5
(d} eaets (e} Nome of these
- L= MApswer g

1. Vind all solutions in the Sutervel {0, 20): os 9 b sin s = i

(&) 0, Z%’ e fbj: ks i Qﬁ'

~

26§
% 3% B Yy
{¢j T T Fi s {e} Rone of thean
lmaﬁ‘u%mﬁmswwz b
27, Rewslie s W sin Tz gin B
{a} i(&m 4a 4= pog 10z} {&} %{&i& s < ain 4

{d) Ein 2z 4 cos 5z {2} Wene of these

b —Answer o

82. Find ol sobutions in the interval [0, 2¢): Zcos {-@ —~ /8=

Lo QA ey -%;:

#3. Determine the pumbey of eolutions for cach of the followiag trinngles.
{8) O = 56°, e= 80, g =57
(B) A=107°, 0 =17, o = 25
(¢} B =27 g = T8, 6= 28

ke Apgwer: {2) 0 eclutions (b} %eolution (s} 0 solutions
20, Given 2 brlangle with ¢ = 16, 6= 18, and & = G3°, find 4.

() 66.5° (b 5.5 (€ 28.6° () gae

[ £ b e b
. b

(e} Neme of thess

(€} eot® 2(sec? = 4 1)

-

() sectz

(o} Zlesnds — eag 103

3

Fay




. 3

57. Find the square roote: 49 (zes =+ isin g)

3 7. I 7,
€ 5=+ gh 5= i @ =5-="

(2) Neome of these
Zm&ﬁwﬁnm@;r: ¢

G8. Find the fourth roots: 81¢
(a) £3, &3

() & {eos -gé +igin é-'i)

ra ?r o - ﬁ
{c) 3 @ng+@sm§} -3 @@5§+wmm}, (@@g%mwgﬂ@am?}

Lk

7 - By ;G g
{d} & 'fﬁsg'“@&mg} i(@@%? =+ {sin té)a 3{\?@9 gﬁf‘“leﬁ@éJ}s

(e} Move of these
E,WW{?@WA%W@F" d
o Muliiply: [Sfecs18° 4 2gi18 FE2(e0s 820 & ¢ gin age 1
(8} 80{cus 345° 4 ¢xin 245 ) (b} 60(cos 38° + fajn 38°Y
{c) 17(cos 348° + sgin 845°) {e} Hone of these

i)

i“mm%@mm%wﬁﬁﬁ: b

27 . 2w
38. Rewrite in standurd fopme 0 (@@g = b fgin = 3
(2) 5/F 4 5; {b) 20:/3¢
(d) -5+ 555 - (e} Nome of these

e N . d

1%, Rewsite in trigonometrie form; % 4 8
{2) VI8(20856.3° 4 sin §8.2%}
{£) /18 {@@s 286.3° < igin 236.3°)
(e} None of these

d—P—Answer: b

46, Evaluste: (3 - 7 JIK
(2} 1206

(b 1964 1206¢
{ﬂ} I 1 F thess

(e} Kone of

Lo l—fisvene: o

(b) 4.946.5, 4.9 5.5

{m»%ﬁhm“n J;m’) (@@:@m#?mﬂ @gﬁ) S{a@gﬁgin{m 52‘,!1&:-%25

af 13w L8z
@ | EOE s L fpte

{2} 17{ecs 38° 4 sain 48y

{e) 6+ 5S¢

(b) VI8(eor 123.7° 4 fgin 199, ‘?@}
{8} vI{coe808.7° - igin $05.77)

Iy



d1. Given a trizngle with A = 71°, & = 10, and ¢ = 19, find the area.
Yeee---Answer: 82.8 square units

22. Given a {rjangle with 2 = 121, b = 82, and ¢ = 90, find the area.
(=) Do22 (b) 4961 (c) 523.2
{¢) 3689.7 . {e) None of these ‘

FemnfflAmower: d

-

8. Giv =k
en cos = 5 and tand < 0, find gin 28,

-3 82 (o) &2 o
. Bl 21 (d} T (&) Wone of thens
L b Anewer 1,



